FH28 EEEILRTBEERALERK

£ HHORE HBAFSREKR (ER28%F2 830 EFRE)
= gl ® - o — Z|B%E8 (smmsiasmsmEs| (EX B
EER-BAECRRO—R (40) 10 10 1.00
A = EERE-BARZEI—X (40) 10 4 0.40
BEH 30 12 21 1.75
TRKH 40 18 20 1.11
# * ARIRER 40 18 33 1.83
R R 80 24 26 1.08
B F I EESH 40 12 2 0.17
1ERIRIE R 40 14 6 0.43
REER 40 18 18 1.00
ey MESES S 40 18 14 0.78
BER 40 18 22 1.22
£ m|#HEERE 160 45 20 0.44
i3 | & 5EXXAEF 40 12 27 2.25
EMEER
P R B EE=ETHIH 920 36 30 0.83
INAAE AR
AN EB|&EEH - -Eita—X (40) 18 23 1.28
= W 4 @ <?’U:<:f7l'$4 40 16 17 1.06
BT IR 40 18 21 117
IR 80 32 33 1.03
BEFHWMIER 40 16 19 1.19
= W T ¥$E1$ﬂ 40 16 19 1.19
BRIZH 80 32 16 0.50
BEIRH 40 16 28 1.75
TARIZH 40 16 16 1.00
MBRRER 80 40 40 1.00
= U & ¥@$ﬁ5§ﬂ 40 18 20 1.11
=EtHE 80 40 58 1.45
1EERLE R 80 40 48 1.20
=00 F Hff:ﬁ_@?ﬂ 160 48 39 0.81
BEH 40 14 27 1.93
= R|EEH-BAHFI—X (40) 12 23 1.92
= m|EEH-EFEI—X (40) 12 11 0.92
7K BEAR-AFI—X (40) 24 30 1.25
B P EBEE-FEI—X (30) 18 18 1.00




TR 2SRRI S A SR

£ HEIDRE HBAZTRIRRN (FR28F2A3AEFRA)

73

= 4 gl B - 3 — R ZEEE |#EssAR|wEsmEEH| (5 e
N BHREFEH 160 45 51 1.13
PN | & &% -FHRI—R (40) 12 10 0.83
o B|EEH 40 18 27 1.50
= [ 76| &R - AREiIa—X (40) 18 24 1.33
R R 40 16 14 0.88
BEFRmE 40 16 14 0.88
BRE 40 16 4 0.25
= M I =g 40 16 23 1.44
T RIRER 40 16 11 0.69
IT=% 30 12 19 1.58
THA - IGEF 40 20 23 1.15
MBRRER 80 38 58 1.53
- ERREFR 40 18 24 1.33
wE O ¥%§+ﬂ 40 18 17 0.94
1HRALEEF 80 30 27 0.90
x KR|EFRRRE 120 40 16 0.40
= fi] mEER - AXEFEI—R (40) 14 16 1.14
= | & B KFEa—R (40) 16 10 0.63
RERZEH 20 8 5 0.63
5k = 5’1{1;’%%4?%4 20 8 9 1.13
EDHRRE 40 18 19 1.06
AR R 40 18 21 117
R 80 32 27 0.84
R I EESRH 40 16 10 0.63
BFH 40 16 6 0.38
B oE B ;;%;%Iﬁiﬁﬂ 30 12 22 1.83
fEtl® 30 12 22 1.83
MmO ' EEEE 30 10 10 1.00
A B R 40 18 16 0.89
a | 31E64FF 3230 1258 1314 1.04
CE1) BEEED( ) IBZEROEEEBDORNRERLTLS,
CX2) ERHOHZH
PREXESR(EMEER-BEETYIUR A EHED 12OV TIL, 3R

ELTWWAT=0. 318642 R LS,




FH28 EEEILRTBEERALERK

£ HHEORE HEAFTREINR (FR28E2 A3BIEFRE) (KERR)

X = & 2| s%ws |knneia|wasmey| gx Bz
=3 t:i1 & 430 164 179 1.09
ETEH(BRa—R)| - - - -
EERB(a—X )| @30 eyl 179 (1.09)
2 " H F M| - - - -

= & & 150 50 26 0.52
= ¥ Rl 170 68 78 1.15
7K i ® 60 26 31 1.19
I 3 £ 1,030 406 371 0.91
] ¥ & 720 332 389 1.17
= E Sk 120 48 81 1.69
ol g 7 40 14 27 1.93
& il & 30 12 22 1.83
E = =2 & 480 138 110 0.80
= £t 3.230| 1258 1,314 1.04
(BE  TR2TEEANFEER)

X -7 & 2| s%ws |ennein|wasmey| gx mE
=3 ik Sk 430 166 194 117
ETER(BFa—X)| - - - -
E&EF(a—X )| @0 e 194 117
# R OB F M - - - -

& & 150 50 51 1.02
B ¥ Rl 170 68 65 0.96
7K 23 # 60 26 23 0.88
I 3 #1030 422 406 0.96
4] E Sk 720 332 414 1.25
R E # 120 48 71 1.48
5 e & 40 14 38 2.71
= #k il 30 12 22 1.83
w & % #®| 480 138 193 1.40
= 5| 3230 1276 1477 1.16

=]




